
√
22 + 32 (1)

√
a2 + b2 (2)

E[(δN(t))2]

E[N(t)]
− 1 = lim

ε→0

2λ

t

∫ t−ε

ε

(t− t′)η(t′)dt′ (3)

E = mc2 (4)

|x| =


x x ≥ 0

−x x < 0

q q = x

(5)

p(ζ) =
1

C0


2πζ + 2ζ2(ζ − 4) for 0 ≤ ζ ≤ 1

−4− 2ζ + 16
3

√
ζ2 − 1− 8

3
1√
ζ2−1

+ 8
3

ζ2√
ζ2−1

+ · · ·

· · ·+ 4
(
arcsin

(
1
ζ

)
− arccos

(
1
ζ

))
for 1 ≤ ζ ≤

√
2

(6)

(c(dVn))
2 � 1 (7)

cN(dVn)� 1 (8)

Find eigenvalues of:  3 4 2
0 5 −1
0 2 2

  1 2 3
4 5 6
7 8 9

 (9)

∣∣∣∣∣∣
3− λ 4 2

0 5− λ −1
0 2 2− λ

∣∣∣∣∣∣ = 0 (10)

(3− λ) [(5− λ)(2− λ) + 2] = 0 (11)

(3− λ)(λ2 − 7λ+ 12) = 0 (12)

(3− λ)2(4− λ) = 0 (13)

λ = {3, 4} (14)

1



∂(ET )

∂t
+
∂(uEt)

∂x
+
∂(vET )

∂y
+
∂(wET )

∂z
=
−∂(up)

∂x
+
−∂(vp)

∂y
+
−∂(wp)

∂z
+
−1

RePr

(
∂qx
∂x

+
∂qy
∂y

+
∂qz
∂z

)
+

1

Re

[
∂

∂x
(uτxx + vτxy + wτxz) +

∂

∂y
(uτxy + vτyy + wτyz) +

∂

∂z
(uτxz + vτyz + wτzz)

]
(15)

∂(ET )

∂t
+
∂(uEt)

∂x
+
∂(vET )

∂y
+
∂(wET )

∂z
=

−∂(up)

∂x
+
−∂(vp)

∂y
+
−∂(wp)

∂z
+
−1

RePr

(
∂qx
∂x

+
∂qy
∂y

+
∂qz
∂z

)
+

1

Re

[
∂

∂x
(uτxx + vτxy + wτxz) +

∂

∂y
(uτxy + vτyy + wτyz) +

∂

∂z
(uτxz + vτyz + wτzz)

]
(16)

x2 − 7x− 12

x− 3
=
��

��(x− 3)(x+ 4)

���x− 3
(17)

∫ π/2

0

(cosx) dx = sinx

∣∣∣∣π/2
0

=
��

��
�*1

sin
(π

2

)
−����:0

sin (0) = 1 (18)

2


